| Efficiency vs Dxy |
.02
X

< TN S R T Y T A S S
L R e A T A S A
< R R T
L o e

QD L : : : : ] : : : :
e R e e
'-.5 - . . . . . . . . .

S S s e e

T a——_—
OL00B[-

0008
ot e e o o
0002

OL.\@_IIII;Illl;llll;llll;llll; III;IIII;IIII;IIII;IIII

Rati

09—525 S TIETIG e 0 B 16 1830 35

TP dxy (cm)

—— —V0001~R000000001Global
| Efficiency vs Dz | —— DOM_V0001_R000000001 Global |

—a— U§IVI VUUUL RUUDUUUOUL — GIoDdal

MKETI0000 _RECO
mKkFit1000 "RECO
mkFit1000ATime_RECO

—V0001~"R000000001Global——mkFit1000CTime"_RECO

—mkFit1000MTime_RECO

—— D M_V0001_R000000001_G|0ba|
nND.05 ; :
b : : : : :

$045
co 04
ans
0.03
0.025
0.02
0.015

0.01
0.005
o+

930 20 <10 0 10 20 30
TP dz (cm)




	Contents
	Page 1


